A proof of a conjectured determinantal inequality<br>Mohammad M. Ghabries, Hassane Abbas, Bassam Mourad, Abdallah Assi

## To cite this version:

Mohammad M. Ghabries, Hassane Abbas, Bassam Mourad, Abdallah Assi. A proof of a conjectured determinantal inequality. Linear Algebra and its Applications, 2020, 605, pp. 21 - 28. 10.1016/j.laa.2020.07.013 . hal-03491318

HAL Id: hal-03491318

## https://hal.science/hal-03491318

Submitted on 18 Jul 2022

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers.
cc) $\$$

# A proof of a conjectured determinantal inequality 

Mohammad M. GHABRIES ${ }^{\text {a,b,* }, ~ H a s s a n e ~ A B B A S ~}{ }^{\text {c }}$, Bassam MOURAD ${ }^{\text {c }}$, Abdallah ASSI $^{\text {a }}$<br>${ }^{a}$ LAREMA, Faculte des Sciences-Departement de mathematiques, Angers, France<br>${ }^{b}$ KALMA, Department of Mathematics, Faculty of Science, Lebanese University, Beirut, Lebanon<br>${ }^{c}$ Department of Mathematics, Faculty of Science, Lebanese University, Beirut, Lebanon

## Abstract

The main goal of this paper is to prove the following determinantal inequality:

$$
\operatorname{det}\left(A^{k}+\left|B^{\frac{s}{2}} A^{\frac{s}{2}}\right|^{\frac{2 t}{s}}\right) \leq \operatorname{det}\left(A^{k}+A^{t} B^{t}\right) \leq \operatorname{det}\left(A^{k}+\left|A^{\frac{s}{2}} B^{\frac{s}{2}}\right|^{\frac{2 t}{s}}\right)
$$

for any positive semi-definite matrices $A$ and $B$, and for all $0 \leq t \leq s \leq k$. It generalizes several known determinantal inequalities, and one main consequence of it confirms Lin's conjecture which states that for positive semi-definite matrices $A$ and $B$,

$$
\operatorname{det}\left(A^{2}+A^{t} B^{t}\right) \leq \operatorname{det}\left(A^{2}+|A B|^{t}\right) \quad \text { for } \quad 0 \leq t \leq 2
$$

We conclude with another related determinantal inequality.
Keywords: Determinantal inequalities; Hermitian matrix; Positive semi-definite matrix; Log-majorization; Eigenvalues
2010 MSC: 15A45, 15A60, 47A64

## 1. Introduction

Let $A$ and $B$ be two $n \times n$ positive semi-definite matrices with $n \geq 1$. Audenaert [3] proved the following determinantal inequality:

$$
\begin{equation*}
\operatorname{det}\left(A^{2}+|B A|\right) \leq \operatorname{det}\left(A^{2}+A B\right) \tag{1}
\end{equation*}
$$

that answers a question arising in the study of interpolation methods for image processing in diffusion tensor imaging when comparing geodesics induced by different metrics. Recently, Lin [7] generalized Audenaert's result by proving

$$
\begin{equation*}
\operatorname{det}\left(A^{2}+|B A|^{t}\right) \leq \operatorname{det}\left(A^{2}+A^{t} B^{t}\right), \quad 0 \leq t \leq 2 \tag{2}
\end{equation*}
$$

In the same paper, the author introduced the following conjecture which is a complement of (2).
Conjecture 1.1. Let $A$ and $B$ be $n \times n$ positive semi-definite matrices. Then

$$
\begin{equation*}
\operatorname{det}\left(A^{2}+A^{t} B^{t}\right) \leq \operatorname{det}\left(A^{2}+|A B|^{t}\right), \quad 0 \leq t \leq 2 \tag{3}
\end{equation*}
$$

[^0]It is worthy to note that this conjecture has been proved in several special cases but remains open for the general case. In particular, for the special cases $t=1$ and $t=2$, Inequality (3) was proved in Lin [7]. Moreover, for $0 \leq t \leq \frac{4}{3}$ the authors confirmed this conjecture in the very recent paper [5]. Some related results can also be found in [2].

Our objective of this note is to prove the following determinantal inequality which obviously generalizes Inequalities (1) and (2) as well as Inequality (3) and hence it gives an affirmative answer to Conjecture 1.1.

Theorem 1.1. Let $A$ and $B$ be two positive semi-definite matrices. Then, for all $0 \leq t \leq s \leq k$,

$$
\operatorname{det}\left(A^{k}+\left|B^{\frac{s}{2}} A^{\frac{s}{2}}\right|^{\frac{2 t}{s}}\right) \leq \operatorname{det}\left(A^{k}+A^{t} B^{t}\right) \leq \operatorname{det}\left(A^{k}+\left|A^{\frac{s}{2}} B^{\frac{s}{2}}\right|^{\frac{2 t}{s}}\right)
$$

Clearly, it suffices to take the case $k=s=2$ in order to see that the preceding theorem gives a positive answer to Conjecture 1.1.

To proceed, we first fix some notation. Let $M_{n}$ be the space of $n \times n$ complex matrices where its identity matrix is denoted by $I_{n}$. The modulus of a complex matrix $X$ is defined as $|X|=\left(X^{*} X\right)^{1 / 2}$. For Hermitian matrices $X, Y \in M_{n}$, we write $X \geq Y$ if $X-Y$ is positive semi-definite matrix. The spectrum of a matrix $X$ is the multiset of the eigenvalues of $X$ denoted by $S p(X)$. If the eigenvalues $\lambda_{1}(X), \lambda_{2}(X), \ldots, \lambda_{n}(X)$ of a matrix $X$ are real, then we will always assume that they are arranged in decreasing order, that is

$$
\lambda_{1}(X) \geq \lambda_{2}(X) \geq \cdots \geq \lambda_{n}(X)
$$

For a Hermitian matrix $X \in M_{n}$, we shall denote

$$
\lambda(X)=\left(\lambda_{1}(X), \lambda_{2}(X), \ldots, \lambda_{n}(X)\right)^{t}
$$

which is clearly a real vector of order $n$.
A norm is said to be unitarily invariant norm if for all $A \in \mathbb{M}_{n}$, we have $\|U A V\|=\|A\|$ for all $U, V \in \mathbb{M}_{n}$ unitary matrices and it is denoted by $\|\|\cdot\|\|$.

Majorization relations are great tools for deriving determinantal inequalities, see [8, Chapter 2] for details on this subject. If $\lambda(A), \lambda(B) \in \mathbb{R}^{n}$, then by $\lambda(A) \prec_{w l o g} \lambda(B)$, we mean that $\lambda(A)$ is weakly log-majorized by $\lambda(B)$, that is

$$
\begin{equation*}
\prod_{i=1}^{k} \lambda_{i}(A) \leq \prod_{i=1}^{k} \lambda_{i}(B) \quad \text { for all } k=1,2, \ldots, n \tag{4}
\end{equation*}
$$

In addition, we shall write $\lambda(A) \prec_{l o g} \lambda(B)$ and we will say that $\lambda(A)$ is log-majorized by $\lambda(B)$ if (4) is true and equality holds for $k=n$.

The rest of the paper is organized as follows. In the next section, we present a proof of Theorem 1.1. In the final section, we present a determinantal inequality which is motivated by some recent work in [6]. More explicitly, we shall show that with the same setting, the inequalities in Theorem 1.1 are reversed when replacing $A^{k}$ by $A^{-k}$ provided that $A$ is invertible.

## 2. Proof of Theorem 1.1

We shall start with the following auxiliary results. The first one is the well known Lowner-Heinz inequality.

Lemma 2.1. Let $X$ and $Y$ be two positive semi-definite matrices such that $X \leq Y$. Then

$$
X^{r} \leq Y^{r}, \quad 0 \leq r \leq 1
$$

Lemma 2.2. Let $X$ and $Y$ be two positive semi-definite matrices. Then, for every unitarily invariant norm, we have

$$
\left\|\left\|X^{p} Y^{p} X^{p} \mid\right\| \leq\right\|\left\|(X Y X)^{p}\right\| \| \text { for } 0 \leq p \leq 1
$$

In particular,

$$
\lambda_{1}\left(X^{p} Y^{p} X^{p}\right) \leq \lambda_{1}\left((X Y X)^{p}\right) \text { for } 0 \leq p \leq 1
$$

In order to prove our main result, the following lemma is essential and its proof can be found in [5].
Lemma 2.3. Let $Y$ be a positive definite matrix and $X$ be a Hermitian matrix. Then for all $p, q \in[0, \infty[$

$$
\lambda\left(X Y^{p} X Y^{-q}\right) \succ_{w \log } \lambda\left(X^{2} Y^{p-q}\right)
$$

The next lemma is also needed for our purposes and it shows a close connection between log-majorization and determinantal inequalities and can be found in $[7,(\mathrm{P} 2)]$.
Lemma 2.4. Let $X$ and $Y$ be two matrices in $M_{n}$. If $\lambda(X), \lambda(Y)$ are in $\mathbb{R}_{+}^{n}$ such that $\lambda(X) \prec_{w l o g} \lambda(Y)$, then

$$
\operatorname{det}\left(I_{n}+X\right) \leq \operatorname{det}\left(I_{n}+Y\right)
$$

For positive definite matrices $A$ and $B$, the authors in [1] proved the following $\log$ majorization inequality:

$$
\begin{equation*}
\lambda\left(A^{\frac{k^{\prime} t^{\prime}}{2}}\left(A^{-\frac{1}{2}} B A^{-\frac{1}{2}}\right)^{t^{\prime}} A^{\frac{k^{\prime} t^{\prime}}{2}}\right) \prec_{w \log } \lambda\left(A^{k^{\prime} t^{\prime}-t^{\prime}} B^{t^{\prime}}\right), \quad 0 \leq t^{\prime} \leq 1 \leq k^{\prime} \tag{5}
\end{equation*}
$$

By taking $A=A^{s}, B=B^{s}, k^{\prime}=\frac{k}{t}$ and $t^{\prime}=\frac{t}{s}$ in (5), we obtain

$$
\begin{equation*}
\lambda\left(A^{\frac{k}{2}}\left(A^{-\frac{s}{2}} B^{s} A^{-\frac{s}{2}}\right)^{\frac{t}{s}} A^{\frac{k}{2}}\right) \prec_{w l o g} \lambda\left(A^{k-t} B^{t}\right), \quad 0 \leq t \leq s \text { and } k \geq t \tag{6}
\end{equation*}
$$

Now we are in a position to present our first result which gives a further generalization of the determinantal inequalities (1) and (2).

Theorem 2.1. Let $A$ and $B$ be two positive semi-definite matrices. Then, for all $0 \leq t \leq s$ and $k \geq t$,

$$
\operatorname{det}\left(A^{k}+\left|B^{\frac{s}{2}} A^{\frac{s}{2}}\right|^{\frac{2 t}{s}}\right) \leq \operatorname{det}\left(A^{k}+A^{t} B^{t}\right)
$$

Proof. Without loss of generality, we shall assume that $A$ and $B$ are positive definite matrices as the general case would then follow by a standard continuity argument. Replacing $A$ with $A^{-1}$ in (6) gives

$$
\begin{equation*}
\lambda\left(A^{-\frac{k}{2}}\left(A^{\frac{s}{2}} B^{s} A^{\frac{s}{2}}\right)^{\frac{t}{s}} A^{-\frac{k}{2}}\right) \prec_{w l o g} \lambda\left(A^{t-k} B^{t}\right), \quad 0 \leq t \leq s \text { and } k \geq t \tag{7}
\end{equation*}
$$

Applying Lemma 2.4 on (7) yields

$$
\operatorname{det}\left(I_{n}+A^{-\frac{k}{2}}\left(A^{\frac{s}{2}} B^{s} A^{\frac{s}{2}}\right)^{\frac{t}{s}} A^{-\frac{k}{2}}\right) \leq \operatorname{det}\left(I_{n}+A^{t-k} B^{t}\right), \quad 0 \leq t \leq s \text { and } k \geq t
$$

Multiplying both sides with $\operatorname{det}\left(A^{k}\right)>0$ implies the desired result.
Before presenting the proof of Theorem 1.1, we shall establish the following log-majorization relation.
Lemma 2.5. Let $A, B$ be two positive definite matrices. Then for all $0 \leq t \leq s \leq k$,

$$
\lambda\left(A^{\frac{k}{2}}\left(B^{\frac{s}{2}} A^{-s} B^{\frac{s}{2}}\right)^{\frac{t}{s}} A^{\frac{k}{2}}\right) \succ_{w \log } \lambda\left(A^{k-t} B^{t}\right)
$$

Proof. As usual in such situation, by a standard anti-symmetric tensor product argument, it is enough to prove that for all $0 \leq t \leq s \leq k$

$$
\lambda_{1}\left(A^{\frac{k}{2}}\left(B^{\frac{s}{2}} A^{-s} B^{\frac{s}{2}}\right)^{\frac{t}{s}} A^{\frac{k}{2}}\right) \geq \lambda_{1}\left(A^{k-t} B^{t}\right)
$$

Without loss of generality, we assume

$$
\lambda_{1}\left(A^{\frac{k}{2}}\left(B^{\frac{s}{2}} A^{-s} B^{\frac{s}{2}}\right)^{\frac{t}{s}} A^{\frac{k}{2}}\right)=1
$$

This is equivalent to

$$
A^{\frac{k}{2}}\left(B^{\frac{s}{2}} A^{-s} B^{\frac{s}{2}}\right)^{\frac{t}{s}} A^{\frac{k}{2}} \leq I_{n}
$$

which in turn gives

$$
\begin{equation*}
\left(B^{\frac{s}{2}} A^{-s} B^{\frac{s}{2}}\right)^{\frac{t}{s}} \leq A^{-k} \tag{8}
\end{equation*}
$$

Now obviously proving our claim is equivalent to showing that

$$
\lambda_{1}\left(A^{k-t} B^{t}\right) \leq 1
$$

Clearly, inequality (8) gives

$$
A^{k} \leq\left(B^{-\frac{s}{2}} A^{s} B^{-\frac{s}{2}}\right)^{\frac{t}{s}}
$$

${ }^{46} \quad$ Now using Lemma 2.1 for $0 \leq \frac{k-t}{k} \leq 1$, we obtain

$$
\begin{equation*}
A^{k-t} \leq\left(B^{-\frac{s}{2}} A^{s} B^{-\frac{s}{2}}\right)^{\frac{t(k-t)}{s k}} \tag{9}
\end{equation*}
$$

Thus, we can write

$$
\begin{aligned}
\lambda_{1}\left(A^{k-t} B^{t}\right) & =\lambda_{1}\left(B^{\frac{t}{2}} A^{k-t} B^{\frac{t}{2}}\right) & & \\
& \leq \lambda_{1}\left(B^{\frac{t}{2}}\left(B^{-\frac{s}{2}} A^{s} B^{-\frac{s}{2}}\right)^{\frac{t(k-t)}{s k}} B^{\frac{t}{2}}\right) & & (\text { Using (9)) } \\
& \leq \lambda_{1}\left(B^{\frac{s}{2}}\left(B^{-\frac{s}{2}} A^{s} B^{-\frac{s}{2}}\right)^{\frac{k-t}{k}} B^{\frac{s}{2}}\right)^{\frac{t}{s}} & & \left(\text { Using Lemma 2.2 for } 0 \leq p=\frac{t}{s} \leq 1\right) \\
& =\lambda_{1}\left(B^{\frac{s}{2}}\left(B^{\frac{s}{2}} A^{-s} B^{\frac{s}{2}}\right)^{\frac{t}{k}-1} B^{\frac{s}{2}}\right)^{\frac{t}{s}} & & \\
& \leq \lambda_{1}\left(B^{\frac{s}{2}}\left(B^{\frac{s}{2}} A^{-s} B^{\frac{s}{2}}\right)^{-1} B^{\frac{s}{2}}\left(B^{\frac{s}{2}} A^{-s} B^{\frac{s}{2}}\right)^{\frac{t}{k}}\right)^{\frac{t}{s}} & & \left(\text { Using Lemma 2.3 for } p=\frac{t}{k} \text { and } q=1\right) \\
& =\lambda_{1}\left(A^{\frac{s}{2}}\left(B^{\frac{s}{2}} A^{-s} B^{\frac{s}{2}}\right)^{\frac{t}{k}} A^{\frac{s}{2}}\right)^{\frac{t}{s}} & & \\
& \leq \lambda_{1}\left(A^{\frac{k}{2}}\left(B^{\frac{s}{2}} A^{-s} B^{\frac{s}{2}}\right)^{\frac{t}{s}} A^{\frac{k}{2}}\right)^{\frac{t}{k}} & & \left(\text { Using Lemma 2.2 for } 0 \leq p=\frac{s}{k} \leq 1\right) \\
& =1 . & &
\end{aligned}
$$

Now we are in a position to prove Theorem 1.1.
Proof of Theorem 1.1: In order to prove the right inequality, we shall assume again that $A$ and $B$ are positive definite matrices as the general case can be obtained by a continuity argument.

With this in mind, replacing now $A$ with $A^{-1}$ in Lemma 2.5 gives

$$
\begin{equation*}
\lambda\left(A^{-\frac{k}{2}}\left(B^{\frac{s}{2}} A^{s} B^{\frac{s}{2}}\right)^{\frac{t}{s}} A^{-\frac{k}{2}}\right) \succ_{w l o g} \lambda\left(A^{t-k} B^{t}\right), \quad 0 \leq t \leq s \leq k \tag{10}
\end{equation*}
$$

Applying Lemma 2.4 to (10) yields

$$
\operatorname{det}\left(I_{n}+A^{-k / 2}\left(B^{\frac{s}{2}} A^{s} B^{\frac{s}{2}}\right)^{\frac{t}{s}} A^{-k / 2}\right) \geq \operatorname{det}\left(I_{n}+A^{t-k} B^{t}\right), \quad 0 \leq t \leq s \leq k
$$

Finally, multiplying both sides with $\operatorname{det}\left(A^{k}\right)>0$ implies

$$
\operatorname{det}\left(A^{k}+\left|A^{\frac{s}{2}} B^{\frac{s}{2}}\right|^{\frac{2 t}{s}}\right) \geq \operatorname{det}\left(A^{k}+A^{t} B^{t}\right), \quad 0 \leq t \leq s \leq k
$$

Lemma 3.1. Let $A$ and $B$ be two positive definite matrices. Then for all $0 \leq t \leq s \leq k$,

$$
\lambda\left(A^{\frac{k}{2}}\left(B^{\frac{s}{2}} A^{s} B^{\frac{s}{2}}\right)^{\frac{t}{s}} A^{\frac{k}{2}}\right) \prec_{w \log } \lambda\left(A^{k+t} B^{t}\right)
$$

Proof. As in similar situations, it is enough to prove that for all $0 \leq t \leq s \leq k$,

$$
\lambda_{1}\left(A^{\frac{k}{2}}\left(B^{\frac{s}{2}} A^{s} B^{\frac{s}{2}}\right)^{\frac{t}{s}} A^{\frac{k}{2}}\right) \leq \lambda_{1}\left(A^{k+t} B^{t}\right)
$$

Again, without loss of generality, we shall assume that $\lambda_{1}\left(A^{k+t} B^{t}\right)=1$. As mentioned earlier, our task now is equivalent to proving

$$
B^{\frac{t}{2}} A^{k+t} B^{\frac{t}{2}} \leq I_{n}
$$

which is in turn equivalent to showing that

$$
A^{k+t} \leq B^{-t}
$$

In order to complete the proof, it suffices to see that the left inequality is a particular case of Theorem 2.1.

## 3. Yet another related Determinantal Inequalities

Motivated by some recent work in [6], we will show a determinantal inequality related to Theorem 1.1. More explicitly, our main goal here is to show that with the same setting, the inequalities in Theorem 1.1 are reversed when replacing $A^{k}$ by $A^{-k}$ provided that $A$ is invertible.

The starting point here is the following lemma.

Prof. As in $0 \leq t \leq s \leq k$,

By appealing to Lemma 2.1 for $0 \leq \frac{k}{k+t} \leq 1$, we obtain

$$
\begin{equation*}
A^{k} \leq B^{-\frac{t k}{k+t}} \tag{11}
\end{equation*}
$$

Then, using again a power $\frac{s}{k}$ where $0 \leq \frac{s}{k} \leq 1$ on (11), we get

$$
\begin{equation*}
A^{s} \leq B^{-\frac{t s}{k+t}} \tag{12}
\end{equation*}
$$

Now, we can write

$$
\begin{aligned}
\lambda_{1}\left(A^{\frac{k}{2}}\left(B^{\frac{s}{2}} A^{s} B^{\frac{s}{2}}\right)^{\frac{t}{s}} A^{\frac{k}{2}}\right) & \leq \lambda_{1}\left(A^{\frac{k}{2}}\left(B^{\frac{s}{2}} B^{-\frac{s t}{k+t}} B^{\frac{s}{2}}\right)^{\frac{t}{s}} A^{\frac{k}{2}}\right) \quad(\text { Using (12)) } \\
& =\lambda_{1}\left(A^{\frac{k}{2}} B^{\frac{t k}{k+t}} A^{\frac{k}{2}}\right) \\
& =\lambda_{1}\left(B^{\frac{t k}{2(k+t)}} A^{k} B^{\frac{t k}{2(k+t)}}\right) \\
& \leq \lambda_{1}\left(B^{\frac{t k}{2(k+t)}} B^{-\frac{t k}{(k+t)}} B^{\frac{t k}{2(k+t)}}\right) \quad(\text { Using (11)) } \\
& =\lambda_{1}\left(I_{n}\right)=1
\end{aligned}
$$

As before, applying anti-symmetric tensor product argument gives for all $0 \leq t \leq s \leq k$,

$$
\lambda\left(A^{\frac{k}{2}}\left(B^{\frac{s}{2}} A^{s} B^{\frac{s}{2}}\right)^{\frac{t}{s}} A^{\frac{k}{2}}\right) \prec_{w l o g} \lambda\left(A^{k+t} B^{t}\right) .
$$

Next, we have the following lemma which is a specialization of Proposition 4.1 in [6].
Lemma 3.2. Let $A$ and $B$ be two $n \times n$ complex matrices such that $A$ is positive definite and $B$ is positive semi-definite matrix. Then, for all $0 \leq t \leq s$, and for all $k \geq 0$, it holds that

$$
\operatorname{det}\left(A^{-k}+A^{t} B^{t}\right) \leq \operatorname{det}\left(A^{-k}+\left(A^{\frac{s}{2}} B^{s} A^{\frac{s}{2}}\right)^{\frac{t}{s}}\right)
$$

As a result, we have the following theorem.
Theorem 3.1. Let $A$ and $B$ be two $n \times n$ complex matrices such that $A$ is positive definite and $B$ is positive semi-definite matrix. Then for all $0 \leq t \leq s \leq k$, it holds that

$$
\operatorname{det}\left(A^{-k}+\left|A^{\frac{s}{2}} B^{\frac{s}{2}}\right|^{\frac{2 t}{s}}\right) \leq \operatorname{det}\left(A^{-k}+A^{t} B^{t}\right) \leq \operatorname{det}\left(A^{-k}+\left|B^{\frac{s}{2}} A^{\frac{s}{2}}\right|^{\frac{2 t}{s}}\right)
$$

Proof. For the left inequality, as usual we shall assume that $B$ is a positive definite matrix. Applying Lemma 2.4 to the majorization inequality of Lemma 3.1 gives

$$
\operatorname{det}\left(I_{n}+A^{k / 2}\left(B^{\frac{s}{2}} A^{s} B^{\frac{s}{2}}\right)^{\frac{t}{s}} A^{k / 2}\right) \leq \operatorname{det}\left(I_{n}+A^{t+k} B^{t}\right), \quad 0 \leq t \leq s \leq k
$$

Multiplying both sides with $\operatorname{det}\left(A^{-k}\right)>0$ yields

$$
\operatorname{det}\left(A^{-k}+\left|A^{\frac{s}{2}} B^{\frac{s}{2}}\right|^{\frac{2 t}{s}}\right) \leq \operatorname{det}\left(A^{-k}+A^{t} B^{t}\right), \quad 0 \leq t \leq s \leq k
$$

Finally, to complete the proof it is enough to notice that the right inequality is valid in view of the preceding lemma.

## Acknowledgements

The authors thank the reviewer for many useful suggestions. Also, many thanks go to the handling Editor for his helpful comments. The authors acknowledge financial support from the Lebanese University research grants program.

## Declaration of Competing Interest

The authors declare that they have no competing interests.

## References

[1] H. Abbas, M. Ghabries, Some Generalizations and Complements of Determinantal Inequalities, Math. Inequal. Appl. 23, 1 (2020), 169-176.
[2] H. Abbas, M. Ghabries, B. Mourad, New determinantal inequalities concerning Hermitian and positive semi-definite matrices, Operators and Matrices, accepted for publication.
[3] K.M.R. Audenaert, A determinantal inequality for the geometric mean with an application in diffusion tensor, 2015, arXiv:1502.06902v2.
[4] R. Bhatia, Matrix Analysis, GTM 169, Springer-Verlag, New York, 1997.
[5] M. Ghabries, H. Abbas, B. Mourad, On some open questions concerning determinantal inequalities, Linear Algebra Appl. 596 (2020) 169-183.
[6] R. Lemos, G. Soares, Some log-majorizations and an extension of a determinantal inequality, Linear Algebra Appl. 547 (2018) 19-31.
[7] M. Lin, On a determinantal inequality arising from diffusion tensor imaging, Commun. Contemp. Math. 19 (2017), 1650044, 6 pp.
[8] X. Zhan, Matrix Inequalities Lecture Notes in Mathematics 1790, Springer, New York, 2002.


[^0]:    *Corresponding author
    URL: mahdi.ghabries@gmail.com (Mohammad M. GHABRIES)

